
Řešení AJ, 3.A, 6.4. - 10.4.2020 

Minitest8 

1.úkol : překlad shoe – bota, jeans – džíny, shirt – pánská košile, hat – klobouk,čepice, skirt – sukně 

2.úkol : Sam´s shirt, Sue´s jacket, Mary´s T-shirt, John´s jumper, Peter´s hat 

PS 40, cv.5 

2.Whose skirt is this ?  It´s the police officer´s skirt. 

3.Whose shoe is this ?  It´s the clown´s shoe. 

4.Whose shirt is this?  It´s the cowboy´s shirt. 

5.Whose hat is this ?    It´s the pirate´s hat. 

6.Whose jacket is this ? It´s the clown´s jacket. 

7.Whose hat is this ?  It´s the police officer´s hat. 

8.Whose jacket is this ? It´s the pirate´s jacket. 

 

PS 41, cv.6 – píše každý sám o sobě. 

 


